INSTALLATION INSTRUCTIONS AND PARTS LIST
MODEL 477054, 477060 REGAL 7 OVAL STEPS (BOARDS ONLY)
UNIVERSAL A__PPLICATIONS

.".:I.:l’n"' /

Read instructions completely and check to make sure that all required parts (listed on the service
parts list) are on hand before starting the installation.

Follow the instructions included with the specific bracket package that you are using to mount
the brackets to your vehicle. The serial number label is located on the front inside drivers side
step assembly.

The step is pre-assembled from the factory. The serial number label is located on the front inside
drivers side step assembly.

Attaching the step to the mounting bracket:

4.1 Set the step on the mounting brackets, and slide each support mounting plate (item #9) inside
the oval step and above each bracket.

4.2 Using the supplied 5/16-18 x 17 black stainless steel hex bolt, washer, and serrated flange nut
(items # 10,11&12) attach the step assembly, support mounting plate and mounting bracket.

4.3 Set the step plate in the correct position and tighten all fasteners.
Torque all 5/16” fasteners to 19 LB FT.

SERVICE PARTS LIST
ITEM | PARTNO. | QTY DESCRIPTION

1&2 552054 2 REGAL 7 OVAL STEP, LH,RH,52”,477054

1&2 552055 2 REGAL 7 OVAL STEP, LH,RH,58”,477060
3 109233 2 END CAP LH REAR, RH FRONT,BLK PLASTIC
4 109232 2 END CAP RH REAR, LH FRONT,BLK PLASTIC
5 107863 8 BOLT-CARRAIGE, 10-24 X 0.50,SST, BLACK
6 108909 2 STEP PAD, 25” X 6.5”, PLASTIC, BLACK
7 108908 12 BOLT-CARRAIGE, 10-24 X 1.0,SST, BLACK
8 107864 12 NUT-NYLOCK, 10-24, SST
9 552052 6 SUPPORT MTG PLT, 11 GA, GALV
10 106997 12 SCREW-HEX HD, 5/16-18X1.0,SST,BLACK
11 106998 12 WSHR-FLAT, 5/16, SST, BLACK
12 102680 12 NUT-SER FLG, 5/16-18, SST

E

TRULCK EQUIPMENT,

REV A 31JUL12
552058 SHEET 1 OF 2 27FEBI12



http://www.carid.com/running-boards.html
http://www.carid.com/luverne-truck-equipment/

cldddse ¢ 40 ¢ IdHHS 8S025S
SrInrte vV AdY

(TIANTONI LON)
AINO IDAAAT TVNSIA d0d
NMOHS LEMOVId HNILLNNOW

LANTWAIN0T NINHL

080LLY —
7S0LLY — 'ON THAOW

LSIT SLIVd HOIAYHES




